n The graph shows the temperature

recorded in a fown one day last summer-.
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How much did the temperature increase

by between 9am and 2pm?

n Eggs are sold in boxes of 10

A hotel needs |,753 eggs for breakfast

for the week.

What is the smallest number of boxes
of eggs the hotel needs to buy for the

week?
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n A factory produces Easter eggs.

COOE

In January the factory produces
263,000 eggs.

Every month it produces 78,000

more eggs than the previous month.

How many eggs did the factory

White
Rose
Maths

Leon buys a magazine and a teddy.

The teddy costs 80p more than the

magazine.

produce in total in January,

February and March?

Leon pays with a £l0 note and gets
£3.08 change.

How much does the teddy cost?
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